A7IUEE e 22 RS e o &

% 7) glojof g7}

O 97 @ 1370 @147H @ 15 7Y

B

® 16 7|

150 ®olA] o= B7I 77t

Aoz 47 ooz

159 27|37 Fojx 970l

23 Boj 1‘3&%‘% IRl leeg
250 B7IUF= 471y

33l 1717} °‘“4E} A7 B
9+4+1=14071)7F BYtt.




BOpY PSS A
Asteln

ol o3 283 gol 27|17 o YY)
sto] mjEA| 7o A& TS UEHl gy FHE B
E oA L.

@ o Wgolst Aafo} & Wol S
/D

4 cm

| = cm
> A 741.04cm

L2 A7)

9l

59 Zgol)+ (4

B

(A= 2Eol)= (2 ¥715
gwel yol)
+(4x2x%x3.14%x7)

=(6x6x314%x2+6%x2x3.14%9)
= (226.08 + 339.12) + 175.84= 741.04( cm?)




YA £l wid Aok 297t 4 0 7 2 FEA dF Y
=3l ZHE 160 71 Hkehd, 21¢Ae 2 AE BdEU

@ 16070 @ 112074 @ 10070
@280 A ® 2800 7

[ ]=1120+4
[ ]=280(7H)




(B52 ¥Hel Wol)=5x5x3.14 = 78.5(cm?)
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